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=5 | grwms | B EEE H| 3
i (m) TH7H(/m') ()
Ct7 53 315.00 2,680,000 844,200,000
ct7 54 315.00 2,600,000 819,000,000
ct7 55 317.00 2,600,000 824,200,000
ct7 56 308.00 2,680,000 825,440,000
ct7 57 306.00 2,680,000 820,080,000
ct7 58 306.00 2,680,000 820,080,000
ct7 59 306.00 2,869,000 877,914,000
c+8 60 340.00 2,818,000 958,120,000
c+8 61 335.00 2,680,000 897,800,000
c+8 62 335.00 2,680,000 897,800,000
8 63 335.00 2,680,000 897,800,000
c+8 64 336.00 2,731,000 917,616,000
t8 65 337.00 2,731,000 920,347,000
t+8 66 335.00 2,680,000 897,800,000
c+8 67 335.00 2,680,000 897,800,000
t+8 68 335.00 2,818,000 944,030,000
Ct9 69 311.00 2,680,000 833,480,000
Ct9 70 311.00 2,680,000 833,480,000




EE o & BT

7|1= (m’) t7H(/m) S (&)
ct9 311.00 2,680,000 833,480,000
Ct9 322.00 2,818,000 907,396,000
Ct9 316.00 2,680,000 846,880,000
Ct9 316.00 2,680,000 846,880,000
Ct9 316.00 2,680,000 846,880,000
Ct9 316.00 2,680,000 846,880,000
Ct9 336.00 3,007,000 ,010,352,000
10 309.00 2,869,000 886,521,000
10 356.00 2,600,000 925,600,000
=al 320.00 2,680,000 857,600,000
10 320.00 2,680,000 857,600,000
10 320.00 2,680,000 857,600,000
10 321.00 2,731,000 876,651,000
11 321.00 2,680,000 860,280,000
11 320.00 2,680,000 857,600,000
11 324.00 2,680,000 868,320,000
11 316.00 2,818,000 890,488,000
11 319.00 2,731,000 871,189,000




=5 oxjus | 2H EEER o
- (m) TH7H(R/m) Z2U(8)

CH 1 89 331.00 2,680,000 887,080,000
CH 1 90 328.00 2,680,000 879,040,000
CH 1 91 325.00 2,680,000 871,000,000
£H2 92 309.00 2,731,000 843,879,000
£H2 93 313.00 2,680,000 838,840,000
£H2 94 313.00 2,680,000 838,840,000
£H2 95 307.00 2,731,000 838,417,000
CH2 96 310.00 2,731,000 846,610,000
CH2 97 314.00 2,680,000 841,520,000
CH2 98 314.00 2,680,000 841,520,000
CH2 99 309.00 2,731,000 843,879,000
cH3 100 302.00 3,094,000 934,388,000
H3 101 302.00 3,065,000 925,630,000
cH3 102 302.00 3,065,000 925,630,000
cH3 103 302.00 3,065,000 925,630,000
£H3 104 394.00 3,174,000 | 1,250,556,000
cH3 105 313.00 3,065,000 959,345,000
cH3 106 313.00 3,065,000 959,345,000




E5 1% ] Z323o .
- (m) TE7H(R/m) (&)
13 107 313.00 3,065,000 959,345,000
C+H13 108 313.00 3,065,000 959,345,000
C+H13 109 314.00 3,094,000 971,516,000
14 110 300.00 3,007,000 902,100,000
Ct14 111 315.00 3,094,000 974,610,000
CH14 112 313.00 3,065,000 959,345,000
Ct14 113 313.00 3,065,000 959,345,000
CH14 114 313.00 3,065,000 959,345,000
14 115 313.00 3,065,000 959,345,000
Ct14 116 315.00 3,094,000 974,610,000
CH14 117 325.00 2,680,000 871,000,000
tH14 118 325.00 2,680,000 871,000,000
tt14 119 325.00 2,680,000 871,000,000
tH14 120 325.00 2,680,000 871,000,000
tH14 121 327.00 2,818,000 921,486,000




